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INSTRUCTIONS TO CANDIDATES

*  Write your name, centre number and candidate number in the boxes above. Please write

clearly and in capital letters.

Use black ink. HB pencil may be used for graphs and diagrams only.

The information required to answer questions 1—6 is contained within the Resource Booklet.

Answer all the questions.

Read each question carefully. Make sure you know what you have to do before starting

your answer.

e  Write your answer to each question in the space provided. If additional space is required,
you should use the lined page(s) at the end of this booklet. The question number(s) must
be clearly shown.

* Do not write in the bar codes.

INFORMATION FOR CANDIDATES

e The number of marks is given in brackets [ ] at the end of each question or part question.

e  The total number of marks for this paper is 60.

*  Your Quality of Written Communication will be assessed in the question marked with an
asterisk (*).

*  This document consists of 16 pages. Any blank pages are indicated.
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Answer all questions.

Analyse two internal economies of scale which DWCL is unlikely to be experiencing.
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2 Evaluate the extent to which DWCL should rely on break-even analysis as a decision-making tool.
[13]
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6
Analyse one advantage to LRG of completing a work study at DWCL.

©OCR 2016



7

4 If LRG invests in DWCL it will recommend a number of lean production techniques (lines 52-53).
Evaluate lean production techniques that could be introduced at DWCL. [13]
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The variable costs of the one-off order to produce 900 sets of plates (three sizes per set) would be:

Materials

£9.50 per set

Design and production labour (working overtime)

£7950

Assuming that DWCL does not have to buy the SuperHeat kiln to complete the order, calculate
the contribution made per set of plates from this order.
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6* Considering production and other issues, should DWCL expand its operations? Justify your view.
[18]
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END OF QUESTION PAPER
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ADDITIONAL ANSWER SPACE

If additional space is required, you should use the following lined page(s). The question number(s)
must be clearly shown in the margin(s).
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